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_____ ÷ 5 = _____ 
_____g
___g

_____ - 600 = _____ 
____ml


[image: ]Identify the calculation that gives a different answer from the rest.
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Problem solving — metric measures

F F F a) To compare or calculate between Tam going to make sure
piscover measurements, first convert them both measurements
into the same units. are in milllitres before T
work out the answer.

litres x 1,000 = milliitres

My watering My watering can 14 Lx 1,000 = 1400 ml
can holds 14 L. holds 1250 mL Mine holds half as
much as yours, Bella! Bella’s watering can holds 1,400 mL

Reena’s watering can holds 1.250 ml.

1,400 - 1250 = 150

Bella’s watering can holds 150 ml
more water than Reena’s.

b) We need to find out how much water Richard’s watering can holds.
His watering can holds half as much water as Bella's does.

1,400 + 2 = 700 ThH T O
Richard's watering can holds 700 ml. rsoo
1250
The watering cans hold 3.350 ml in total. . 700
Convert all of the measurements to 3350
miltilitres to find the answer. T
+50 +600
41x1,000 = 4,000 ml (‘/—\
° @) How much more water does Bella's watering can hold than Reena's? The container holds 4,000 ml.
o ———— 8]
b) If the children use water from the container to fill their watering cans, 4,000 - 3.350 = 650 3350 4,000
how much wetar will be laft inithe container? There will be 650 ml of water left in the container. L
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Think together

Q) e veoter carrer holds 3 lves of water but
600 ml of water has leaked onto the floor.

How many millilitres are left in the water carrier?

There are ([ ml of water left.

different, 5o to give the answer
in milllitres you need to convert
all the units into millilitres.

The units of measurement are )

e 4kg of compost i divided among 5 trees.

How many grams of compost will each tree get?

4x I.UUU:.
“ig=09

(D g of compost s shared among the trees.

Eoch tree will get (] grams of compost.
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Calculate with Mefric Measures

4. Match the calculafions fo their correct answers.

‘A My ribbon is 225cm long. | sell 1.52m of t. How much Lavm
ribbon do | have left?
8.1 plank of wood is 455cm long. How long would § 073m
identical planks of wood be? .
C. Jen was 134cm fall. Since fhen, she has grown a 2om
further 15cm. How fall s Jen now?
D. We need fo ravel 1.25km. We have gone 1,230m so 2278
far. How much further do they need fo fravel? -75m
5. Circle the calculation hat gives a different answer from fhe rest.
A. 1 pack of bacon weighs 5. kg of flour s added fo 724g
0.306kg. How much would 4 of sugar. How much do they
packs weigh in grams? ‘weigh altogether in grams?
C. 8 eggs (weighing 49g each) D.1 1 sausage weighs 0.09kg.
are added 1o 0.832kg of butter. how much would 12 sausages

What is the fotal weight in grams? ‘weigh in grams?

b

6. A shop sells 515mi of flavoured water every 5 seconds.

Jenna says,

Do you agree? Explain why.
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